WCR BHEZOEE /= @w/ vor
Mate] [Knany Conneations > [zA) BEE =1/319.7 (1/165.1) FEZ = - ) 40.0% - k& 86.0%( 355% =1/401)

EHR=EEE /100E HIk-481838&15
[FB] B2 =1,/239.2 (1/115.0) FEZ = - #] 58.0% - #{5% 90.0%( §53% =1/274)

WA A7 VIR EHR=RE®E /50100 @ EEk=42183814

MR AR k- - - 2L

W R AT — - 418
WRFHE - EF = — @b
WZ 7 RAEE: 8D
W20
WEE LT

[MAX HE])

[ZA] (15 & /100)
. 560 {&

16R -2,240 B

[FB] (14 @ /9C)

- 4R--- 468 {@

“16R---1,872 {&

A AE—
: %
WO HITIAEY

AL =T HE >
[EsHEIaL—30])

<SEBREEM= 7 E>
KOMFIZ., WREMERLET, &R (2A] (FBD

@ FIMAE, [BABGER] ZRvES, [FMABR] TOERIZECET, Presented by TKC (RSt h—Fi - /7 - axsiarX)




